CSCI 201 Spring 2004 Supplemental Homework on Reference Variables

Below are 8 problems each containing a program that generates output.  For each problem, state what would be printed if the code were run.  You will probably find it helpful to draw memory diagrams when working these problems.  These problems must be completed prior to Friday, April 23.

Problem 1.
What will be output by the program below?  

public class Dog {

      private String name;

      public Dog (String name) {

         this.name = name;

      }

      public String getName() {

         return name;

      }

      public void setName(String nombre) {

         name = nombre;

      }

}

public class TestQuestion {


public static void main(String [] args) {


   int num1 = 1, num2 = 2;


   Dog dawg1 = new Dog (“fido”);


   Dog dawg2 = new Dog (“spike”);

         swap (num1, num2);

         swap (dawg1, dawg2);

         System.out.println (“num1 = ” + num1 + “ num2 = ” + num2);

         System.out.println (“dawg1’s name is ” + dawg1.getName() 

+ “ dawg2’s name is ” + dawg2.getName()); 


}


public static void swap(int x, int y) { 


   int temp = x;

         x = y;

         y = temp;

}


public static void swap(Dog dog1, Dog dog2) {


   Dog temp = dog1;

         dog1 = dog2;

         dog2 = temp;


}

}

Problem 2.
What will be output by the program below?  

public class Dog {

      private String name;

      public Dog (String name) {

         this.name = name;

      }

      public String getName() {

         return name;

      }

      public void setName(String nombre) {

         name = nombre;

      }

}

public class TestQuestion {


public static void main(String [] args) {


   int num1 = 1, num2 = 2;


   Dog dawg1 = new Dog (“fido”);


   Dog dawg2 = new Dog (“spike”);

         swap (num1, num2);

         swap (dawg1, dawg2);

         System.out.println (“num1 = ” + num1 + “ num2 = ” + num2);

         System.out.println (“dawg1’s name is ” + dawg1.getName() 

+ “ dawg2’s name is ” + dawg2.getName()); 


}


public static void swap(int x, int y) { 


   int temp = x;

         x = y;

         y = temp;

}


public static void swap(Dog dog1, Dog dog2) {


   String temp = dog1.getName();

         dog1.setName( dog2.getName() );

         dog2.setName(temp);


}

}

Problem 3.

What will be output by the program below?  

public class Cat  {
  private int weight; 


  public Cat () { 
    weight = 10;

  }
  public Cat (int weight) {
    this.weight = weight;

  }
  public void setWeight (int weight) { 
    this.weight = weight;
  }
  public int getWeight () {
    return weight;
  }
 }


public class TestQuestion

{


public static void main(String[] args) {



int catWeight = 25;



Cat tom = new Cat(catWeight);



zeroWeight(catWeight);

System.out.println(“the value of catWeight is ” 

+ catWeight );



zeroWeight(tom);



System.out.println(“the cat’s weight is ” 

+ tom.getWeight() );


}


public void zeroWeight(int weightIn) {



weightIn = 0;


}


public void zeroWeight(Cat catIn) {



catIn.setWeight(0);


}

}

Problem 4.
What will be output by the program below?  

public class Cat  {
  private int weight; 


  public Cat () { 
    weight = 10;

  }
  public Cat (int weight) {
    this.weight = weight;

  }
  public void setWeight (int weight) { 
    this.weight = weight;
  }
  public int getWeight () {
    return weight;
  }
 }


public class TestQuestion

{


public static void main(String[] args) {



int catWeight = 25;



Cat tom = new Cat(catWeight);



CatWeight = zeroWeight(catWeight);

System.out.println(“the value of catWeight is ” 

+ catWeight );



zeroWeight(tom);



System.out.println(“the cat’s weight is ” 

+ tom.getWeight() );


}


public int zeroWeight(int weightIn) {



weightIn = 0;



return weightIn;


}


public void zeroWeight(Cat catIn) {



int weight = catIn.getWeight();



weight = 0;


}

}

Problem 5.
What will be output by the program below?  

public class PositiveInteger {

      private int posInteger;

      public PositiveInteger(int number) {

     

setInteger(number);

      }

      public int getInteger() {

         return posInteger;

      }

      public void setInteger(int number) {

         posInteger = Math.abs(number);

      }

}

public class TestQuestion {


public static void main(String [] args) {


   int num1 = 10;


   PositiveInteger pnum1 = new PositiveInteger(-1);


   zero(num1);


   zero(pnum1);

         System.out.println(“my integer = ” + num1 + 

“ and my positive integer = ” + pnum1.getInteger()); 


}


public static void zero(int x) { 


   x = 0;

}


public static void zero(PositiveInteger x) {


   x.setInteger(0);


}

}

Problem 6.
What will be output by the program below?  

public class PositiveInteger {

      private int posInteger;

      public PositiveInteger(int number) {

     

setInteger(number);

      }

      public int getInteger() {

         return posInteger;

      }

      public void setInteger(int number) {

         posInteger = Math.abs(number);

      }

}

public class TestQuestion {


public static void main(String [] args) {


   int num1 = 10;


   PositiveInteger pnum1 = new PositiveInteger(-1);

         scramble (num1, pnum1);

         System.out.println (“num1 = ” + num1);

System.out.println (“positiveInteger1 is ” + pnum1.getInteger() );


}


public static void scramble(int x, PositiveInteger y) { 


   x = y.getInteger();

         y.setInteger(x);

}

}

Problem 7.
What will be output by the program below?  

public class PositiveInteger {

      private int posInteger;

      public PositiveInteger(int number) {

     

setInteger(number);

      }

      public int getInteger() {

         return posInteger;

      }

      public void setInteger(int number) {

         posInteger = Math.abs(number);

      }

}

public class TestQuestion {


public static void main(String [] args) {


   int num1 = 10;


   PositiveInteger pnum1 = new PositiveInteger(-1);

         num1 = scramble (num1, pnum1);

         System.out.println (“num1 = ” + num1);

System.out.println (“positiveInteger1 is ” + pnum1.getInteger() );


}


public static int scramble(int x, PositiveInteger y) { 


   int temp = x;


   x = y.getInteger();

         y.setInteger(temp);


   return x;

}

}

Problem 8.
What will be output by the program below?  

public class Dog {

   private int weight;

   public Dog (int wt) {

      if (wt > 0 && wt < 300)

         weight = wt;

      else

         System.out.println(“invalid entry for weight”);

   }

   public void bark()  {


System.out.println(“bark, bark, bark!”);

   }

   public void fight (Dog dogMeat) {

      dogMeat.bark();

      dogMeat.fight(this);

   }

}

public class DogDemo {

   public static void main (String [] args) {

      Dog fluffy = new Dog (10);

      Dog spike = new Dog (80);

      spike.fight (fluffy);

   } 

